# A sharp oscillation criterion for a linear delay differential equation

Ábel Garab<sup>a</sup>, Mihály Pituk<sup>b,\*</sup>, Ioannis P. Stavroulakis<sup>c,d</sup>

<sup>a</sup> Institut f
ür Mathematik, Universit
ät Klagenfurt, Universit
ätsstra
ße 65–67, A-9020 Klagenfurt, Austria
 <sup>b</sup>Department of Mathematics, University of Pannonia, Egyetem út 10, H-8200 Veszprém, Hungary
 <sup>c</sup>Department of Mathematics, University of Ioannina, 451 10 Ioannina, Greece

<sup>d</sup>Faculty of Mathematics and Mechanics, Al-Farabi Kazakh National University, Almaty, 050040 Kazakhstan

#### Abstract

It is well-known that for the oscillation of all solutions of the linear delay differential equation

$$x'(t) + p(t)x(t - \tau) = 0, \qquad t \ge t_0,$$

with  $p \in C([t_0, \infty), \mathbb{R}^+)$  and  $\tau > 0$  it is necessary that

$$B \coloneqq \limsup_{t \to \infty} A(t) \ge \frac{1}{e}, \quad \text{where} \quad A(t) \coloneqq \int_{t-\tau}^t p(s) \, ds.$$

Our main result shows that if the function A is slowly varying at infinity (in additive form), then under mild additional assumptions  $B > \frac{1}{e}$  implies the oscillation of all solutions of the above linear delay differential equation. The applicability of the obtained results and the importance of the slowly varying assumption on A are illustrated by examples.

*Keywords*: delay differential equation; oscillation; slowly varying function; *S*-asymptotically periodic function. 2010 MSC: 34K11.

#### 1. Introduction

Consider the linear delay differential equation

$$x'(t) + p(t)x(t-\tau) = 0, \qquad t \ge t_0, \tag{1.1}$$

where  $t_0 \in \mathbb{R}, \tau > 0$  and  $p: [t_0, \infty) \to \mathbb{R}^+$  is a nonnegative continuous function. By a solution of (1.1), we mean a function x which is continuous on  $[t_1 - \tau, \infty)$  for some  $t_1 \ge t_0$ , differentiable on  $(t_1, \infty)$  and satisfies (1.1) for  $t > t_1$ . The solution x of (1.1) is said to be *oscillatory* if it has arbitrarily large zeros. Otherwise, it is called *nonoscillatory*.

The study of the oscillatory properties of the solutions of delay differential equations has received much attention, see the monographs [2] and [3] and the references therein. In [7], Koplatadze and Chanturija established oscillation criteria for Eq. (1.1) in terms of the lower and upper limit of the function

$$A(t) \coloneqq \int_{t-\tau}^{t} p(s) \, ds, \qquad t \ge t_0 + \tau, \tag{1.2}$$

as  $t \to \infty$ . More precisely, they proved the following result.

## Theorem 1 ([7]).

(*i*) If

$$\liminf_{t \to \infty} \int_{t-\tau}^{t} p(s) \, ds > \frac{1}{e},\tag{1.3}$$

then all solutions of (1.1) are oscillatory.

<sup>\*</sup>Corresponding author

*Email addresses:* abel.garab@aau.at (Ábel Garab), pitukm@almos.uni-pannon.hu (Mihály Pituk), ipstav@uoi.gr (Ioannis P. Stavroulakis)

(ii) If

$$B \coloneqq \limsup_{t \to \infty} \int_{t-\tau}^{t} p(s) \, ds < \frac{1}{e},\tag{1.4}$$

or, more generally,

$$\int_{t-\tau}^{t} p(s) \, ds \le \frac{1}{e} \quad \text{for all large } t, \tag{1.5}$$

then Eq. (1.1) has a nonoscillatory solution.

For further related results and a survey of oscillation criteria available for Eq. (1.1), see [5, 8, 11].

Note that if p is  $\tau$ -periodic, then the function A in (1.2) is a constant. As an immediate consequence of Theorem 1, we obtain the following result.

**Corollary 2.** If  $p: [t_0, \infty) \to \mathbb{R}^+$  is a nonnegative, continuous and  $\tau$ -periodic function, then for the oscillation of all solutions of (1.1) it is necessary and sufficient that

$$\int_{t_0}^{t_0+\tau} p(s) \, ds > \frac{1}{e}.$$
(1.6)

According to Theorem 1, for the oscillation of all solutions of (1.1) it is necessary that  $B \ge \frac{1}{e}$ , where B is defined in (1.4). Thus, if all solutions of (1.1) are oscillatory, then B cannot be smaller than  $\frac{1}{e} \approx 0.367879441$ . Our aim is to establish a sufficient condition for the oscillation of all solutions of (1.1) such that the value of B is as close to  $\frac{1}{e}$  as possible [5–11]. We will show that if the function A in (1.2) is slowly varying at infinity, then under mild additional assumptions the 'almost necessary' condition  $B > \frac{1}{e}$  is sufficient for the oscillation of all solutions of (1.1). Recall (see, e.g., [1]) that a function  $f: [t_0, \infty) \to \mathbb{R}$  is *slowly varying at infinity* if for every  $s \in \mathbb{R}$ ,

$$f(t+s) - f(t) \longrightarrow 0 \quad \text{as } t \to \infty.$$
 (1.7)

As noted in [10], a continuous function  $f: [t_0, \infty) \to \mathbb{R}$  is slowly varying at infinity if and only if there exists  $t_1 \ge t_0$  such that on the interval  $[t_1, \infty)$  the function f can be decomposed into the sum

$$f(t) = g(t) + h(t), \qquad t \ge t_1,$$
(1.8)

where  $g: [t_1, \infty) \to \mathbb{R}$  is a continuous function which tends to a finite limit as  $t \to \infty$  and  $h: [t_1, \infty) \to \mathbb{R}$  is a continuously differentiable function such that  $h'(t) \to 0$  as  $t \to \infty$ . Since  $A'(t) = p(t) - p(t - \tau)$  for  $t \ge t_0 + \tau$ , this implies that the condition

$$p(t+\tau) - p(t) \longrightarrow 0 \quad \text{as } t \to \infty$$

$$(1.9)$$

is sufficient for A to be slowly varying at infinity. Functions p satisfying (1.9) are sometimes called Sasymptotically  $\tau$ -periodic [4].

In a recent paper [10], one of the authors established the following oscillation criterion (see Myshkis [9]) for Eq. (1.1).

**Theorem 3.** Suppose that the coefficient  $p: [t_0, \infty) \to \mathbb{R}^+$  is nonnegative, continuous, and slowly varying at infinity with  $\liminf_{t\to\infty} p(t) > 0$ . Then

$$\tau \limsup_{t \to \infty} p(t) > \frac{1}{e}$$

implies that all solutions of (1.1) are oscillatory.

Clearly, condition (1.9) is less restrictive than the slowly varying condition on p. In this sense, our main result (see Theorem 4 below) may be viewed as a generalization of Theorem 3 to a more general class of linear delay differential equations.

The paper is organized as follows. In Section 2, we formulate and prove our main oscillation criterion. In Section 3, we give examples which illustrate the applicability of the obtained results and the importance of the slowly varying assumption on A.

### 2. Main result

Our main result is the following theorem.

**Theorem 4.** Let  $p: [t_0, \infty) \to \mathbb{R}^+$  be a nonnegative, bounded and uniformly continuous function such that

$$\liminf_{t \to \infty} \int_{t-\tau}^{t} p(s) \, ds > 0. \tag{2.1}$$

Assume also that the function A in (1.2) is slowly varying at infinity. Then

$$B = \limsup_{t \to \infty} \int_{t-\tau}^{t} p(s) \, ds > \frac{1}{e} \tag{2.2}$$

implies that all solutions of (1.1) are oscillatory.

The uniform continuity of  $p: [t_0, \infty) \to \mathbb{R}^+$  in Theorem 4 is satisfied if, e.g., p is differentiable and its derivative is bounded on  $(t_0, \infty)$ .

It can be shown using the decomposition (1.8) that if  $f: [t_0, \infty) \to \mathbb{R}$  is continuous and slowly varying at infinity, then f is uniformly continuous on  $[t_0, \infty)$ . This follows from the fact that both g and h in (1.8) are uniformly continuous. Indeed, the uniform continuity of g follows from the Bolzano–Cauchy criterion for the existence of a finite limit at infinity and from the uniform continuity of g on compact intervals, while the uniform continuity of h is a consequence of the boundedness of its derivative. This, together with [10, Lemma 2], implies that if the coefficient p in (1.1) is bounded, then under the assumptions of Theorem 3 all assumptions of Theorem 4 are satisfied. Thus, in case of bounded coefficients Theorem 3 is a special case of Theorem 4.

In the proof of Theorem 4, we need the following auxiliary result from [6].

**Lemma 5** ([6, Lemma 2]). Suppose that  $p: [t_0, \infty) \to \mathbb{R}^+$  is a nonnegative continuous function satisfying (2.1). If x is an eventually positive solution of (1.1), then for all sufficiently large T,

$$\sup_{t \ge T} \frac{x(t-\tau)}{x(t)} < \infty.$$
(2.3)

Now we give a proof of Theorem 4.

**Proof of Theorem 4.** Suppose, for the sake of contradiction, that the assumptions of Theorem 4 hold and Eq. (1.1) has a nonoscillatory solution x. Without loss of generality, we may assume that x is eventually positive. Otherwise, we pass to the solution -x of (1.1). By Lemma 5, if T is sufficiently large, then

$$x(t) > 0, t \ge T - \tau,$$
 (2.4)

and

$$K = \sup_{t \ge T} \frac{x(t-\tau)}{x(t)} < \infty.$$

$$(2.5)$$

Recall the definition of B in (2.2). In view of (1.2), there exists a sequence  $t_n \to \infty$ ,  $t_n \ge T$  for  $n \in \mathbb{N}$ , such that

$$A(t_n) \longrightarrow B, \quad \text{as } n \to \infty.$$
 (2.6)

Define

$$y_n(t) = \frac{x(t_n + t)}{x(t_n)} \quad \text{for } t \ge -\tau \text{ and } n \in \mathbb{N}.$$
(2.7)

From (1.1), we find that

$$x'(t_n + t) + p(t_n + t)x(t_n + t - \tau) = 0$$
(2.8)

and hence

$$y'_{n}(t) + p(t_{n} + t)y_{n}(t - \tau) = 0$$
(2.9)

for all  $t \ge 0$  and  $n \in \mathbb{N}$ . From (2.5) and (2.8), we obtain for  $t \ge 0$  and  $n \in \mathbb{N}$ ,

$$x'(t_n+t) = -p(t_n+t)\frac{x(t_n+t-\tau)}{x(t_n+t)}x(t_n+t) \ge -Kp(t_n+t)x(t_n+t) \ge -KMx(t_n+t),$$

where  $M = \sup_{t>T} p(t)$ . Hence

$$-Ly_n(t) \le y'_n(t) \le 0 \quad \text{for all } t \ge 0 \text{ and } n \in \mathbb{N},$$
(2.10)

where L = KM. Taking into account that y is positive on  $[-\tau, \infty)$ , we have

$$-L \le \frac{y'_n(t)}{y_n(t)} \le 0 \quad \text{for all } t \ge 0 \text{ and } n \in \mathbb{N}.$$
(2.11)

Integration from 0 to t yields

$$-Lt \le \ln \frac{y_n(t)}{y_n(0)} \le 0 \quad \text{for all } t \ge 0 \text{ and } n \in \mathbb{N}.$$
(2.12)

Since  $y_n(0) = 1$  for all  $n \in \mathbb{N}$ , we obtain

$$e^{-Lt} \le y_n(t) \le 1$$
 for all  $t \ge 0$  and  $n \in \mathbb{N}$ . (2.13)

Integrating (2.9) from  $\tau$  to t, we get

$$y_n(t) = y_n(\tau) - \int_{\tau}^{t} p(t_n + s)y_n(s - \tau) \, ds \quad \text{for all } t \ge 0 \text{ and } n \in \mathbb{N}.$$

$$(2.14)$$

Define

$$q_n(t) = p(t_n + t) \quad \text{for } t \ge 0 \text{ and } n \in \mathbb{N}.$$
(2.15)

By virtue of (2.10) and (2.13), the functions  $y_n$  and their derivatives are uniformly bounded on  $[0, \infty)$ . This, together with the boundedness and uniform continuity of p, implies that the functions  $y_n$  and  $q_n$  are uniformly bounded and equicontinuous on  $[0, \infty)$ . By the application of the Arzelà–Ascoli theorem, we conclude that there exist subsequences  $\{y_{n_k}\}_{k\in\mathbb{N}}$  and  $\{q_{n_k}\}_{k\in\mathbb{N}}$  of  $\{y_n\}_{n\in\mathbb{N}}$  and  $\{q_n\}_{n\in\mathbb{N}}$ , respectively, such that the limits

$$y(t) = \lim_{k \to \infty} y_{n_k}(t) \quad \text{and} \quad q(t) = \lim_{k \to \infty} q_{n_k}(t)$$
(2.16)

exist for all  $t \ge 0$  and the convergence is uniform on every finite subinterval of  $[0, \infty)$ . Writing  $n = n_k$  in (2.13) and (2.14) and letting  $k \to \infty$ , we obtain

$$e^{-Lt} \le y(t) \le 1$$
 for all  $t \ge 0$  and  $n \in \mathbb{N}$ , (2.17)

and

$$y(t) = y(\tau) - \int_{\tau}^{t} q(s)y(s-\tau) \, ds \quad \text{for all } t \ge \tau \text{ and } n \in \mathbb{N}.$$

$$(2.18)$$

This implies that y is a positive solution of the delay differential equation

$$y'(t) + q(t)y(t-\tau) = 0.$$
(2.19)

Clearly, q is nonnegative and continuous on  $[0, \infty)$ . By virtue of (1.2) and (2.16), we have for all  $t \ge \tau$ ,

$$\int_{t-\tau}^{t} q(s) \, ds = \lim_{k \to \infty} \int_{t-\tau}^{t} q_{n_k}(s) \, ds = \lim_{k \to \infty} \int_{t-\tau}^{t} p(t_{n_k} + s) \, ds$$
$$= \lim_{k \to \infty} \int_{t_{n_k} + t-\tau}^{t_{n_k} + t} p(u) \, du = \lim_{k \to \infty} A(t_{n_k} + t) = \lim_{k \to \infty} A(t_{n_k}) = B_{t+\tau}$$

where the last and the last but one equality follows from (2.6) and the slowly varying property of A, respectively. From this we obtain that

$$\liminf_{t \to \infty} \int_{t-\tau}^t q(s) \, ds = B > \frac{1}{e}.$$

As noted in Section 1, if p is an S-asymptotically  $\tau$ -periodic continuous function, then A is slowly varying at infinity. Thus, Theorem 4 yields the following corollaries.

By Theorem 1 (i), being a solution of (2.19), y is oscillatory, which contradicts (2.17).

**Corollary 6.** Let  $p: [t_0, \infty) \to \mathbb{R}^+$  be a nonnegative, bounded and uniformly continuous function such that (2.1) holds. If p is S-asymptotically  $\tau$ -periodic, then (2.2) implies that all solutions of (1.1) are oscillatory.

**Corollary 7.** Suppose that  $p: [t_0, \infty) \to \mathbb{R}^+$  is a nonnegative, bounded function, which can be decomposed into a sum

$$p(t) = q(t) + r(t), \qquad t \ge t_0,$$
(2.20)

where  $q: [t_0, \infty) \to \mathbb{R}$  is a continuous  $\tau$ -periodic function and  $r: [t_0, \infty) \to \mathbb{R}$  is continuous and slowly varying at infinity. If

$$\int_{t_0}^{t_0+\tau} q(s) \, ds + \tau \liminf_{t \to \infty} r(t) > 0 \quad and \quad \int_{t_0}^{t_0+\tau} q(s) \, ds + \tau \limsup_{t \to \infty} r(t) > \frac{1}{e}, \tag{2.21}$$

then all solutions of (1.1) are oscillatory.

*Proof.* Since q is continuous and periodic, it is uniformly continuous on  $[t_0, \infty)$ . Further, r is continuous and slowly varying at infinity and therefore, according to the remark below Theorem 4, r is also uniformly continuous on  $[t_0, \infty)$ . Hence p = q + r is uniformly continuous on  $[t_0, \infty)$ . It is easily seen that p is S-asymptotically  $\tau$ -periodic. Combining the periodicity of q with [10, Lemma 2] we obtain that

$$\liminf_{t \to \infty} \int_{t-\tau}^{t} p(s) \, ds = \int_{t_0}^{t_0+\tau} q(s) \, ds + \tau \liminf_{t \to \infty} r(t).$$
(2.22)

By a similar argument we have

$$\limsup_{t \to \infty} \int_{t-\tau}^t p(s) \, ds = \int_{t_0}^{t_0+\tau} q(s) \, ds + \tau \limsup_{t \to \infty} r(t). \tag{2.23}$$

The result follows from Corollary 6.

# 3. Examples

In this section we illustrate the applicability of the above oscillation criteria (Example 8), and show the importance of the slowly varying assumption on A (Example 9).

Example 8. Consider the equation

$$x'(t) + \left(\frac{1}{2\pi e} + \delta(\cos t + \cos\sqrt{t})\right)x(t - 2\pi) = 0, \qquad t \ge 0,$$
(3.1)

where  $\delta \in (0, \frac{1}{4\pi e})$ . Eq. (3.1) is a special case of (1.1) when  $\tau = 2\pi$ ,  $t_0 = 0$ , and

$$p(t) = \frac{1}{2\pi e} + \delta \left(\cos t + \cos \sqrt{t}\right).$$

Note that the function  $\cos \sqrt{t}$  is slowly varying at infinity, since its derivative vanishes there. Hence the decomposition (2.20) holds with  $q(t) = \frac{1}{2\pi e} + \delta \cos t$  and  $r(t) = \delta \cos \sqrt{t}$ . The conditions in (2.21) reduce to  $1/e - 2\pi\delta > 0$  and  $1/e + 2\pi\delta > 1/e$ , respectively. By the choice of  $\delta$  both inequalities are satisfied. Therefore Corollary 7 applies and all solutions of (3.1) are oscillatory.

Now we show that in this example neither Theorems 1 nor Theorem 3 applies. In view of (2.22) and (2.23), we have

$$\liminf_{t \to \infty} \int_{t-\tau}^t p(s) \, ds = \frac{1}{e} - 2\pi\delta$$

and

$$B = B(\delta) = \limsup_{t \to \infty} \int_{t-\tau}^{t} p(s) \, ds = \frac{1}{e} + 2\pi\delta.$$

Thus (1.3) does not hold and Theorem 1 cannot be applied.

As  $\cos\sqrt{t}$  is slowly varying at infinity, we have  $\cos\sqrt{t+\pi} - \cos\sqrt{t} \to 0$  as  $t \to \infty$ , and hence

$$p(t+\pi) - p(t) = -2\delta\cos t + \delta\left(\cos\sqrt{t+\pi} - \cos\sqrt{t}\right) \not\to 0 \quad \text{as } t \to \infty.$$

This shows that p is not slowly varying at infinity, and hence Theorem 3 cannot be applied.

Note also, that as  $B(\delta) \to 1/e$  as  $\delta \to 0+$ , choosing  $\delta > 0$  small enough we can rule out the application of various other sufficient conditions for the oscillation of all solutions of (3.1) (see e.g. conditions (C<sub>3</sub>)–(C<sub>12</sub>) from [8]).

Example 9. Consider the equation

$$x'(t) + \left(\frac{1}{\pi} + \delta \cos t\right) e^{-1 - 2\delta \sin t} x(t - \pi) = 0, \qquad t \ge 0,$$
(3.2)

where  $\delta \in (0, 1/\pi)$ . Eq. (3.2) is a special case of (1.1), where

$$p(t) = \left(\frac{1}{\pi} + \delta \cos t\right) e^{-1 - 2\delta \sin t},$$

 $\tau = \pi$  and  $t_0 = 0$ . It is easy to see that Eq. (3.2) has a positive solution given by

$$x(t) = e^{-\frac{t}{\pi} - \delta \sin t}$$

We are going to verify that all the assumptions of Theorem 4 are satisfied except that A is not slowly varying at infinity.

Clearly, p is nonnegative and bounded. Further, p is  $2\pi$ -periodic and continuous and therefore it is uniformly continuous on  $[t_0, \infty)$ .

Since  $p(t) \ge (1/\pi - \delta)e^{-1-2\delta}$  for  $t \in \mathbb{R}$ , we have that

$$\liminf_{t \to \infty} \int_{t-\tau}^t p(s) \, ds \ge (1 - \delta \pi) e^{-1 - 2\delta} > 0.$$

Next we show that condition (2.2) also holds. Since p is  $2\pi$ -periodic, we have

$$A((2n+2)\pi) = \int_{(2n+1)\pi}^{(2n+2)\pi} p(s) \, ds = \int_{\pi}^{2\pi} p(s) \, ds = A(2\pi)$$

for all  $n \in \mathbb{N}$ . Taking into account that  $\sin t < 0$  for  $t \in (\pi, 2\pi)$ , we find that

$$A(2\pi) = \int_{\pi}^{2\pi} p(s) \, ds = \frac{1}{\pi e} \int_{\pi}^{2\pi} e^{-2\delta \sin s} (1 + \delta\pi \cos s) \, ds > \frac{1}{\pi e} \int_{\pi}^{2\pi} (1 + \delta\pi \cos s) \, ds = \frac{1}{e}.$$

Thus,  $A((2n+2)\pi) = A(2\pi) > 1/e$  for all  $n \in \mathbb{N}$  and hence

$$\limsup_{t \to \infty} \int_{t-\tau}^t p(s) \, ds = \limsup_{t \to \infty} A(t) \ge A(2\pi) > \frac{1}{e}.$$

Finally, we show that A is not slowly varying at infinity, i.e. there exists  $s_0 \in \mathbb{R}$  and a sequence  $t_n \to \infty$  such that  $A(t_n + s_0) - A(t_n)$  does not converge to 0 as  $n \to \infty$ . Thereto, note that function p is  $2\pi$ -periodic, and so is A. Thus, it is sufficient to show that A is nonconstant. Indeed, if there exist  $t_0 \leq s_1 < s_2 < \infty$  such that  $A(s_1) \neq A(s_2)$ , then letting  $s_0 = s_2 - s_1$  and  $t_n = s_1 + 2n\pi$ , we get  $A(t_n + s_0) - A(t_n) = A(s_2) - A(s_1) \neq 0$  for all  $n \in \mathbb{N}$ . Since A is continuously differentiable and periodic, in order to see that A is nonconstant, it suffices to find a  $t \in \mathbb{R}$  such that  $A'(t) \neq 0$ . Choosing  $t = \pi/2$  one obtains

$$A'\left(\frac{\pi}{2}\right) = p\left(\frac{\pi}{2}\right) - p\left(-\frac{\pi}{2}\right) = \frac{e^{1-2\delta} - e^{-1+2\delta}}{\pi} \neq 0.$$

This proves that A is not slowly varying at infinity.

Example 9 shows that in Theorem 4 the assumption that A is slowly varying at infinity cannot be omitted.

#### Acknowledgement

This research was supported by the Hungarian National Research, Development and Innovation Office grant no. KH130513, Széchenyi 2020 under the EFOP-3.6.1-16-2016-00015 (M. Pituk), by the Young Scientists Mentoring Program of the Universität Klagenfurt (Á. Garab) and by Al-Farabi Kazakh National University (I.P. Stavroulakis). The authors wish to thank the anonymous referees for their useful comments.

### References

- [1] J. M. Ash, P. Erdős, L. A. Rubel, Very slowly varying functions, Aequationes Math. 10 (1974) 1–9.
- [2] L.H. Erbe, Q. Kong, B.G. Zhang, Oscillation Theory for Functional Differential Equations, Marcel Dekker, New York, 1995.
- [3] I. Győri, G. Ladas, Oscillation Theory of Delay Differential Equations with Applications, Oxford University Press, New York, 1991.
- [4] H.R. Henríquez, M. Pierri, P. Táboas, On S-asymptotically  $\omega$ -periodic functions on Banach spaces and applications, J. Math. Anal. Appl. 343 (2008) 1119–1130.
- [5] J. Jaroš, I.P. Stavroulakis, Oscillation tests for delay equations, Rocky Mountain J. Math. 29 (1999) 139-145.
- [6] M. Kon, Y.G. Sficas, I.P. Stavroulakis, Oscillation criteria for delay equations, Proc. Amer. Math. Soc. 128 (2000) 2989–2997.
- [7] R.G. Koplatadze, T.A. Chanturija, On the oscillatory and monotonic solutions of first order differential equations with deviating arguments, Differentsial'nye Uravneniya 18 (1982) 1463–1465.
- [8] G.M. Moremedi, I.P. Stavroulakis, A survey on the oscillation of delay equations with a monotone or non-monotone argument, in: Differential in Difference Equations and Applications, pp. 441–461, Springer Proc. Math. Stat. 230, Cham, 2018.
- [9] A.D. Myshkis, Linear homogeneous differential equations of first order with deviating arguments, Uspekhi Mat. Nauk 5 (1950) 160–162 (in Russian).
- [10] M. Pituk, Oscillation of a linear delay differential equation with slowly varying coefficient, Appl. Math. Lett. 73 (2017) 29–36.
- [11] Y.G. Sficas, I.P. Stavroulakis, Oscillation criteria for first-order delay equations, Bull. London Math. Soc. 35 (2003) 239–246.